Reminder:
Sometimes a value
of x that seems to

be a vertical
asymptote is actually
a hole

Find all horizontal and vertical asymptotes
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Determine if each function is continuous. If the function is not continuous,

Tuf-':u te—> D A find the x-axis location of each discontinuity and classify each discontinuity
S as infinite or removable. Also find any horizontal asymptotes.
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Identify each point of discontinuity, holes, vertical
asymptote, horizontal asymptote, zero(s), y-intercept,

domain, and range.
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